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8.288 x — 8788
5.998 x =599.8
4.179 % =417.9
10.093 x =100.93
2.514 x = 2514
2.736 X = 27.36
1.571 x = 1571
6.954 x = 6954
7.043 x —70.43
3.574 x = 3574

ELAE
1.822 x — 1822
7.047 % =704.7
8.223 X = 8223
4.869 x =48.69
5.242 x = 5242
9.658 x = 0658
2.273 =22.73
3.186 x =31.86
5.142 x — 5142
10.927 x = 10927
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8.288 x 1000 = 8288

5.998 x 100 = 599.8

4.179 x 100 = 417.9

10.093 x 10 = 100.93

2.514 x 1000 = 2514

2736 x 10 = 27.36

1.571 x 1000 = 1571

6.954 x 1000 = 6954

7.043 x 10 = 70.43

3.574 x 1000 = 3574

=LA

1.822 x 1000 = 1822

7.047 x 100 = 704.7

8.223 x 1000 = 8223

4.869 x 10 = 48.69

5.242 x 1000 = 5242

9.658 x 1000 = 9658

2273 x 10 =22.73

3.186 x 10 = 31.86

5.142 x 100 = 514.2

10.927 x 1000 = 10927
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